Addition by Expanded Column Method
3 Digit + 3 Digit

Work out the answers to these calculations using the expanded column method.
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Addition by Expanded Column Method
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3 Digit + 3 Dugit
Work out the answers to these calculations using the expanded column method.
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Answers

Question Answer Question Answer
Work out the answers to these calculations using the 16 | 1085
expanded column method.

1] 631 17 | 783

21811 18 | 357

3715 19 | 1147

4 | 855 20 | 862

5[ 412 21 ] 685

6 | 299 22| 1355

71712 23 | 1276

8 | 629 24 | 1429

9 | 405 25| 1311

10 | 509 26 | 975

11| 629 27 | 1052

12 ]1812 28 | 1109

13 | 871 29 | 1431

14 | 343 30| 1092

15 | 274
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